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Fig. 3
—  The simply-supported beam subjected to distributed loading is shown in Fig. 1.

1. Find the reactions at 4 and B, respectively. (10 47)

'l ~ Member ABC has a mass of 2.4 kg and is attached to a pin support at B, as shown in Fig.
2. Draw the shear and bending diagrams for the beam and find Max. (15 53)

4. An 800-g sphere D strikes the end of member ABC with a vertical velocity v; of 3 m/s.
Knowing that L4z=Lsc= 750 mm and the coefficient of restitution between the sphere D

and member ABC is 0.5, determine immediately after the impact the angular velocity of
member ABC and the velocity of the sphere D. (25 73)
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— ~ Aspool is pulled by a force P as shown in Fig. 2. If the coefficients of static friction at

contact points A and B are 0.4 and 0.2, respectively, determine the smallest force P that
will cause the 150-kg spool to have impending motion.(25 473)
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